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BCOE-142 : MANAGEMENT ACCOUNTING

Time : 3 Hours Maximum Marks : 100

Note : Attempt Section A and Section B. Section A
carries 40 marks and Section B carries

60 marks. All questions carry equal marks.

Section—A

Note : Answer any two of the following questions :

1. (a) Discuss the techniques of cost control. 10
(b) What are the advantages of cost control ?
10
2. What do you mean by Standard Costing ?
Explain the advantages of standard costing.

4+16

P.T.O.
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3. Write short notes on any four of the following :
5 each
(a) Current Ratio
(b) Kaizen costing
(¢c) Activity -Based Costing
(d) Inflation Accounting
(e) Capital Reserve
(f) Value chain analysis
Section—B

Note : Answer any three of the following questions.

4. Glass manufacturing company requires you to
present the budget for the next year from the

following information : 20
Sales :

Toughend Glass % 6,00,000

Bent Glass % 2,00,000
Direct material cost 60% of sales
Direct Wages 20 workers @ 150 p. m.

Factory overheads 900 p.m.
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Stores and spare
parts

Depreciation on
Machinery

Light and Power

Repairs and

Maintenance
Other sundries

Selling and
Distribution

expenses

2.5% on sales

312,600

< 3,000

% 8,000
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10% on direct wages

% 36,000 p. a.

Coates India Ltd. manufactures a particular

product, the standard direct labour cost of

which 1s ¥ 120 per unit whose manufacture

involves the following :

Grade of Hours Rate @) Amount
Workers ®
A 30 2 60
B 20 3 60
50 120

P.T.O.
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During a period, 100 units of the product were

produced, the actual labour cost of which was

as follows :
Grade of Amount
Hours Rate (%)
Workers ®
A 3,200 1.50 4,800
B 1,900 4.00 7,600
5,100 12,400
Calculate : 5 each

(a) Labour Cost Variance

(b) Labour Rate Variance

(¢) Labour Efficiency Variance

(d) Labour Mix Variance

From the following information, calculate :

(a) Break-even point

5 each

(b) New Break-even point if selling price is

reduced by 10%

(c) New Break-even point if variable cost

increases by 10%; and
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(d) New Break-even point if fixed cost

increases by 10%
Sales =% 2,00,000
Variable Cost =% 1,20,000
Fixed Cost =% 30,000

X Ltd. manufactures 1000 units p. a. at the cost
of ¥ 40 per unit and in year 2023. There is a
demand of the whole production at price of
T 42.50 per unit in the home market. There is
an expected fall in the demand in the home
market in the year 2024 and the whole product
could be sold in the home market at a selling
price of ¥ 37.20 per unit. The cost analysis of

1000 units 1t as follows :

Amount
Particulars
®)
Materials 15,000
Wages 11,000
Variable Expenses 6,000
Fixed Expenses 10,000

P.T.O.
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2000 units could be sold in the foreign market
at an explored price of ¥ 35.50 per unit. It is
also estimated that for additional 1000 units of
the product, the fixed cost unit increase by 10%.

Advise the management. 20

Discuss any five internal factors and any five

external factors influencing pricing decisions.

10+10

For what types of industries, Human Resource
Accounting is most suitable ? Is it relevant to

countries like India ? Explain. 10+10
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4+16
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fa&%a &1 60%

20 A @ % 150
gfd w&H

2 900 gfd w&HT
fasht T 2.5%

3 12,600

3 3,000

3 8,000

T Heigll W 10%
Z 36,000 9fd o

weg e fafte wh foviw sa & fmfa
g TorEe! AMe T W o 3120 9 ST

2 fomen fmfor o freefafea wite @ -
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P.T.O.
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JEf % A 100 SHEAl Soaed I T,

ardfder 99 o 791 9 et .

(%) Ta-fo=g fag
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A 3,200 1.50 4,800
B 1,900 4.00 7,600
5,100 12,400
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(7) ok T AFE 10% € S §, a4
T-fa=sg fag

fast =2 2,00,000

IREdeie e@ra =3 1,20,000

TR & =3 30,000

. T fafes ufq ad 7 40 9fd S&E & W W

1000 THTSAN 1 IEH et € X o 2023 H
e ISR " % 42.50 Ufd SR ki I G QO
IR T A B A 2024 W e SR A AT
Y HHI HT SN T qeT YUl IR T 37.20 A
T Hl W F W] WK H T SN Gkl T
1000 SHTEA T AT fawewor frefafed 2 :

faaoT T

(%)
et 15,000
LSl 11,000
PIECREMI D 6,000
Rl == 10,000

P.T.O.
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faes s | 2 35.50 9fd 3 & T I 2000

ThIEA Sl W1 Ghdl 21 A ot STHM @

T fom stfafed 1000 Sheal & SR § T

AMA H 10% o1 g B SMGH| Ja= i T

SIEL 20

8. Tea Tyl fofai &t gaifoq & ot foheet

Oiel <& Nl TS for=l ufer &l hiehi

o N (aWa

hl TIdET <hI1ST]| 10+10

9. T HEYH @i fhd YR & IEW & fau
Hellfead WHT SIa1 ® 7 &1 98 9Rd S <9 %

foru grfier @ 2 =men st 10+10
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